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&y b, Cellular phone service has Live MCQ Analytics™: 3% Teamrel: 46%,

in a new phase of communication.

F) called ) started
) paved q) ushered
3+ ©&R: 9) ushered

Live MCQ Analytics™: 3% Teamret: 7%, o1
TGIST: 51%, T&F AT 41%

rGl: « Phrasal Verb:

- (P! Verb Il femoitma 310t I3 (Fieal
Preposition I& 2, Verb A fea7miba =i
T aFe e (U@ F @l (i« R
FCH, ©XF (12 Preposition 7 Verb bt
Group Verb I Phrasal Verb <& 23|

owe IFBCS, 'ushered in ' AT aFH
phrasal @& 9 @ @36 Tg7 #F a1 FooF
oAl 1 91 ¥ Fl1 'Ushered' 241 'usher
f@Faeia Tore ol il |

Example

« usher(noun)

-The usher showed us to front-row seats.
¥ X, Children must be
and care.

<) brought about  ¥) brought forth

%) brought forward ¥) brought up
(¥ ©&: ¥) brought up

with love

T TEAVISl: 14%, BB BCA: 39%

PGt bring up (phrasal verb) :

- English Meaning: to care for a child until
they are an adult, often giving them
particular beliefs.

- Bangla Meaning: =TIeT{leTq <<l |

Ex. Sentence:

* She was brought up by her grandmother.
* They brought her up (as/to be) a Catholic.
________ to e-buses would not
lower the level of emissions but merely
their place of origin.

<) Evolution, vary ) Transition, change
) Altercation, destroy W) Shift, altered

{8 ©&: ¥) Transition, change

Live MCQ Analytics™: 56 Teamrst: 20%,
o1 SGAMIel: 18%, ©GF ICA: 60%

PPl o 'the', Noun (transition) is used. After
'would', the present form of the verb
(change) is used.

- GYiR - the-9d T Noun (transition) IIZS
=1 'would'-9F 3, f@aE Iow w7l

(Change-i AT IRTS T |
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2% 8. I decided that I couldn't put
their thoughtless behavior any longer.

F) up %) off
) up with 9) through to
¥+ Te&: ) up with

Live MCQ Analytics™: Af6& S@awret: 50%,
o1 Teanel: 8%, G LA 41%

P » put up with-

- English Meaning: to tolerate, suffer
through.

- Bangla Meaning: & 41; a1 efeqim e
e

Examples

- She could not put up with her new
roommate.

- I don't know how he puts up with their
constant complaining.

- I can't put up with a leaky freezer.

- I put up with her tantrums for 30 years.
Complete the sentence: 1 decided that I
couldn't put up with their thoughtless
behavior any longer.

oY ¢. (05-08): Select the word or phrase
that is most closely opposite in meaning to
the original word. Accumulate

<) Amiss ¥) Produce
9) Amass q) Scatter
e Tex: q) Scatter

Live MCQ Analytics™: 7f5% Seamret: 40%,
wE Teawel: 9%, TE FRAI: 50%

JIJl: » accumulate (verb intransitive, verb
transitive) - A2 Al “AfFEICAH {% el
AT, AjGhgs/ BAFS/ des ze; Tl
GG |

» scatter (verb transitive), (verb intransitive)

- Tows fqrws At [ifee a1 8 w41, =few
3 o e
» Amiss (adverb)- T 91 GTOIS; abe; Q5 |

« antonyms for accumulate - dispel

,disperse, scatter, dissipate.

Live MCQ

English Wizard
Grammar -

azfore
-

e SO~

English Wizard
Crammar

A Comelete & Excave Sosion

o
&y v, Effervescent
) Vivacious

%) Mediocre

H6 B <) Dull
Live MCQ Analytics™: #f5& S@awret: 11%,
T Teanel: 10%, ©@d FEA: 77%

I 92 &% 72 PR A AT WRAE
T RIS Live MCQ @i* 237567 5o |
& q. Hostile
<) Friendly
%) Positive ¥) Inimical

Ffé® T&R: ) Friendly

Live MCQ Analytics™: Af5& S@awret: 50%,
e Tqulel: 10%, $6 ICE: 38%

I G2 &% 7T PR A AT WRAE
T RIS Live MCQ @i* 237567 B3 |
&% v. Illustrious

<) Conspicuous ¥) Venerable

) Unknown ¥) Resplendent
8 T&=: ) Unknown

Live MCQ Analytics™: 55 Seamrel: 13%,
o1 SGAMISl: 18%, ©GF ICA: 68%

Yt 9T 2% T PEF Y AHT GRATE
T TR Live MCQ @™ 237567 5o /

<) Dull

q) Generous

) Negative

Warnning: Live MCQ™ -4% 7% FT5°6 A5 T34 9141 TAMFS | Aeafe s @l T4 GF J97 WELd 897 ¢ FEa3 wo]

Join Now p

P> Google Play

oy [ rayees (@ livemco.com Q 01701377322


https://livemcq.com/link/home
https://web.livemcq.com/blog/english-wizard-grammar-book-by-saleh-ahmed/

LI

Live
MCQ

16 i, sTae fafer

a9 5. (09-12): Each sentence has a
highlighted word or phrase. Choose the one
word or phrase that best keeps the meaning
of the original sentence. 9. It is difficult to
get young people to plan for their old age,

which seems very distant to them.

) far away ) impossible
%) observable q) fearful
(o TG F) far away

Live MCQ Analytics™: 6% S@awret: 34%,
e Teanel: 11%, ©@d FEA: 53%

I 42 2% 72 PR Y AT FAA T
T FC® Live MCQ @UI% 33757 e 1

&% do. Passenger ships and aircraft are often
equipped with ship to shore or air-to-land
radio telephones.
F) highways

%) sailboats 9) airplanes

(¥ ©G: ) airplanes

Live MCQ Analytics““:yﬂcé\ﬂs Teqvel: 38%,
el TeanTel: 7%, 6 LA 54%

I 92 2H 72 PR 7Y AT GANT
DT T Live MCQ GI% T 5o |

oy 3. It is not possible for people

to recall everything that they have thought,

felt, or done.

%)) railroads

) appreciate %) remember

%) repeat ¥) discuss

e Tex: ¥) remember

Live MCQ Analytics™: 5f5< TGawretl: 45%,
e TeAnel: 4%, B8 ICAAE: 50%

T: 92 2% 72 PP Y AT GeANF
JIT FIC® Live MCQ @UI% 33757 ey 1

o 3. Receptors for the sense of smell are
located at the top of the nasal cavity.

<) upper end <) inner edge
7) mouth q) division
(e TG <) upper end

Live MCQ Analytics™: 5fo% Teamret: 32%,
T Teanel: 10%, TGd FEA: 56%

WY 92T 9% 7R PEF Y AT AT
T AT Live MCQ @™ 337567 5o |

ey 39, Q (13-15): Read the following passage
and answer the questions given below it in
the context of the passage. Our eyes and
ears might be called transformers because
they sense the light and sound around us
and turn them into electrical impulses that
the brain can interpret. These electrical
impulses that have been transformed by the
eye and ears reach the brain and are turned
into messages that we can interpret. For the
eye, the process begins as the

eye admits light waves, bends them at the
cornea and lens, and then focuses them on
the retina. At the back of each eye, nerve
fibers bundle together to form optic nerves,
which join and then split into two optic
tracts. Some of the fibers cross, so that part
of the input from the right visual field goes
into the left side of the brain, and vice
versa. The process in the ear is carried out
through sensory cells that are carried in
fluid-filled canals and that are extremely
sensitive to vibration. Sound transformed
into electricity travels along nerve fibers in
the auditory nerve. These fibers form a
synod neurons that carry the messages to
the auditory cortex on each side of the
brain. 13. Which of the following is closest
in meaning to the word 'admits"?

<) selects

) lets in

S Tex: %) lets in
Live MCQ Analytics™: 5f3% Teamret: 12%,
e el 16%, T@d FEA: 71%

%) interprets

q) focuses on
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Y 9T 2% 7T PEF 7Y AT WRATE
T T Live MCQ @i% E3T5e 5o |
2y 38. The word "bundle" could best be
replaced by which of the following?

<) group %) grow
) branch q) settle
Fée B&x: %) group

Live MCQ Analytics™: 5f5% Seamret: 22%,
el TeanTel: 11%, ©&d BAF: 66%

I 9% &% 7T PR @AY ACHT WRATE
T T Live MCQ @i% E3T5e 5o |

&¥ 3¢. The word "split" is closest in
meaning to which of the following?

JF) tear ¥) fracture

) separate q) crack

(3% T&: ) separate

Live MCQ AnalyticsTl“:VﬂC@?s TeanTel: 28%,
el Teanel: 6%, S8 LA 64%

IR 9T % 72 P Y ACAT WA
JIT FIAC® Live MCQ @UI% 33757 e 1

&Y 3. An inspector notices a thief from a
distance of 200 meters after this thief starts
running and the inspector chases him. The
inspector and the thief run at the speed of
11 km/hr and 10 km/hr respectively. The

distance between them after 6 minutes is?

<) 100m %) 90m
) 110m ) 120m
fde T F) 100m

Live MCQ Analytics™: 3f5< Teawretl: 13%,
wel TeAmISl: 4%, ©&F FCAF: 82%

I 92 &% 7T PR @AY AT WRATE
JIT FIC® Live MCQ @UI% 33757 ey 1

2% 39. A man is running at a speed of 3
km/hr in the direction of the train whose
length is 500 meters. If the train is moving
at a speed of 63 km/hr then how many

seconds will this train take to cross the

man?

JF) 38 sec ¥) 35 sec
%) 34 sec q) 30 sec
LR RER q) 30 sec

Live MCQ Analytics™: 5% Teamret: 13%,
T Teanel; 3%, 6 LA 83%

I 9T 22 7T P Y AcAT GNP
T RIS Live MCQ @i* 337567 3o |

&Y b, A train left 30 minutes later than
the Schedule time and to reach its
destination in time it increased its speed by
250 km/hr. If the target is 1,500 km away,
find the speed of the train?

<) 800 km/hr ¥) 750 km/hr

) 715 km/hr q) 850 km/hr

o Tex: ¥) 750 km/hr

Live MCQ Analytics™: 0% T@awrel: 5%, o
TGIST: 2%, TG FCAA(: 91%

T 9T % 3T P Y ACET RN
T RIS Live MCQ @i* 237567 5o |

&% 55, In still water, a boat can travel at 5
km/hr. It takes 1 hour to row to a place
and come back. If the velocity of the stream

is 1 km/hr, how far is the place?

) 3.5 km ¥) 2.6 km
) 2.4 km ) None
#f$® T&R: o) 2.4 km

Live MCQ Analytics™: 3% T@amrel: 10%, T
TeATol: 4%, TGF FCATI: 84%

Wt 93 &% 7T PR WY AT GAAGF I TS
Live MCQ @* 3370e] 33 |

¥ 0. Three varieties of rice costing Tk.
30, Tk, 50. and Tk. 20 are mixed in the ratio
3:2: 4 in terms of weight. A retailer sells
the mixture at Tk. 33 per kg. What
percentage of profit does he make?

JF) 5% ) 10%
%) 9% ) None
foe Tew: ) 10%
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Live MCQ Analytics™: Sf0& S@awrs!: 9%, T
Tearel: 2%, TeF FEAAE: 87%
I 93 &% 7T PR @AY AT WRATE
T TS Live MCQ QI TG P 1
L & B
WA T T AR
— |

FeeTEm A -

& 4
2 2. P charges at 7% p.a. simple interest
to Q and R and lends a certain sum to R
and Tk. 2,500 to Q. After 4 years, P
completely receives Tk. 1,120 as interest
from Q and R. Find the sum lent to R?
<) Tk. 1,500 <) Tk. 3,100
) Tk. 6,400 9) Tk. 900
Ffé% Te: ) Tk. 1,500
Live MCQ Analytics™: Af5& S@awrst: 2%, T
TGIST: 3%, TG FCAT: 93%

I 92 &% 7T PR @AY AT WRATE
I T Live MCQ &% Z575e7 509 /

oW N If 25% of a number is subtracted
from a second number, the second number
reduces to the five-sixth. The ratio of the

first number to the second number is

F)1:3 ) 3:2
MN2:3 ) None
o Tew: 7l) 2 : 3

Live MCQ Analytics™: Ao Teqwre: 6%, T
TeAnel: 4%, T€I ICAA: 88%

G 93 2% 7T PP Y AT AP
JIT FIC® Live MCQ @UI% 33757 ey 1

& X9, Seats for Computer Science,
Mechanical and Electronics in a university
are in the ratio 7 : 5 : 8. There is a planning
to increase these seats by 50%, 40%, and
75% respectively. Find the ratio of increased

seats?

F)6:7:8 ) 8:6:9
AM3:4:5 9)3:2:4
e e 9) 3:2: 4

Live MCQ Analytics™: o< Teamret: 6%, o1
TGamrel: 3%, T& FCAF: 90%

T 9T 22 72 P WY AcAT WA
T RIS Live MCQ @™ 237567 5o |

29 8, The breadth of a rectangular field is
increased by (r + 5)%, and the length
decreased by r%. If the area of the field is
unchanged, what is the value of r?

<) 20 ) 15

) 8 9) 10

Ffde Tew: ) 20

Live MCQ Analytics™: 3T Teamrel: 3%, o
TGAWIST: 2%, TG FCA: 94%

TY: 9T 2E 72 PP Y ECET AT
T RIS Live MCQ @i* 237567 5o |

2% €. A piece of wire 78 cm long is bent

in the form of an isosceles triangle. If the
ratio of one of the equal sides to the base is
5 : 3, then what is the length of the base?

JF) 16 cm ¥) 20 cm
) 18 cm q) 30 cm
T Tex: ) 18 cm

Live MCQ Analytics™: o Sewrel: 6%, 91
TGMrel: 3%, TE LA 89%

TR 92 2F 72 PR Y AT G
T TS Live MCQ % Z35eT 5o |

2 V. A train takes 50 sec to cross a boy
travelling at 6 km/h in the opposite
direction to it. Another train which is half
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as long as and 25% faster take 30 sec to
cross the stationary pole. Find the

approximate length of the second train.

<) 100 m ¥) 125 m
) 190 m q) 148 m
Ffde Tex: ¥) 125 m

Live MCQ Analytics™: 3% Teawret: 2%, e
TSl 2%, T6d FE: 95%

[ 93 2% T FEF Y AET GNP
JIT I Live MCQ @7 3757 ey |

¥ RA4. A bag contains 30 balls numbered 1
to 30. Two balls are drawn at random. What
is the probability that the balls drawn
contain a number which is multiple of 4 or
6 but not a multiple of both?

F) 1/8 ) 1/4
%) 1/3 ) None
Ffée Tex: q) None

Live MCQ Analytics™: 5f3% Teawret: 4%, o
TGAAIST: 6%, TET S 88%

TYG: 92 &fE 72T PP Y AT GAAF
DT T Live MCQ GI% T 5o |

&Y QW A, B and C start running around a
circular field having circumference 144m at
the same time from the same point. Speeds
of A, B and C are 6 m/min, 8 m/min and 12
m/min. Find after how much time, they will
meet again at the same point for the first

time.

<) 72 min %) 36 min
%) 144 min q) 18 min
T T <) 72 min

Live MCQ Analytics™: Ao Teqwre: 4%, T
TGNl 4%, T€F FCATE: 90%

[ 9T &7 7T PEE A AHT G F
JIT FIC® Live MCQ @UI% 33757 e 1

&Y 5. Compound interest on a certain sum
at the rate of 12% per annum after 2 years
is Tk. 1,42,464. Find the simple interest on
that sum at the rate of 15% per annum for
7 years.

<) Tk. 5,68,000 ) Tk. 5,86,000

%) Tk. 5,88,000 <) Tk. 5,66,000

Ffé% B&: 1) Tk. 5,88,000

Live MCQ Analytics™: 0% Teawret: 2%, G
TGMISl: 2%, TEF FCAF: 94%

TR 92 KH 72 PR Y AHT GeAAT
T T Live MCQ Q% 5 Poey |

2% 9o, If p*=q, ' =r and r*= p then the

value of xyz is

F) 1 q) -1
) 0 9) pqr
e T F) 1

Live MCQ Analytics™: 7f5% S@awrst: 23%,
F TEAMISl: 3%, T@d T 72%

T 92 &F 72 PR Y AT G
T RIS Live MCQ @i* 237567 F5oe |

&y ). In a city, the fare of a cab consists
of fixed charge plus the charge for the
distance covered. For a journey of 8 km, the
charge paid is Tk. 300 and for 15 km, the
charge paid is Tk. 335. Determine the
charge a person will have to pay for 24 km?

) Tk. 236 ¥) Tk. 248
M) Tk. 346 q) Tk. 380
*f$< Te=: 9) Tk. 380

Live MCQ Analytics™: Af5% S@awret: 9%, g
TGMrel: 3%, TE FCA: 87%

IR G2 & 7T P A ACHT G E
T TS Live MCQ % Z5eT 5o |

2| . Surface area of hollow cylinder with
radius 'r' and height 'h' is measured by

F) 2mr - h ¥) 2mtrh

) 21th 9) Tr’
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o Tex: ¥) 2mrh <) China %) UAE
Live MCQ Analytics™: 7f5% Seamret: 23%, %) Saudi Arabia 9) None

el TeanTel: 2%, 6 ICAA: 73%

IR 9T % 2 P W ACAT WA
JIT CTIT Live MCQ Q% 5 ey |

¥ 99, Rahim can do a piece of work in 20
days. Karim is 25% more efficient than
Rahim. The number of days taken by Karim

to do the same piece of work is

) 15 <) 19
%) 18 q) 16
e Tex: 9) 16

Live MCQ AnalyticsTM:ﬂﬁW Tequrel: 9%, T
Tequrel: 13%, ©6d IFCAE: 77%

I @2 &7 7T PP Y ACHT G R
T FIAC® Live MCQ @I% 337567 e 1

2% 98, I walk a certain distance and ride
back taking a total time of 37 minutes. I
could walk both way 55 minutes. How long
would it take me to ride both ways?

<) 30 minutes ¥) 19 minutes

%) 37 minutes ¥) 20 minutes

Ffée Tex: ¥) 19 minutes

Live MCQ Analytics““:yﬁﬁs Tequrel: 9%, T
TGS 3%, TG FCAT: 87%

I @2 &7 57T PP AN ACHT GNP
I T Live MCQ @i% Z3T5eT F5o9 |

2% o¢. Commonwealth of Nations
headquarters situated in?

<) London ¥) Washington DC
%) Geneva ) None of these
T T <) London

Live MCQ Arlalytics““:fﬂ%ﬁE Teanel; 37%, O
TGSl 13%, TG FE: 48%

J: 92 &2 7T PR W< QAT WCRAAGE I
(FHITE Live MCQ @I* ZHHET F5oey 1

2y wv, World's biggest solar power plant is

situated in?

Live MCQ AnalyticsTM:ﬂﬁ?? Teawtel: 0%, e
Teawtel; 0%, 6 ICA: 0%

J: 92 &% 72 FEF Y AT ARATF
TS Live MCQ @* 337567 3o /

2y w4, Which country has adopted Bengali
language the status of second state

language?
J) India ) Nepal
%) Sierra Leone ¥) Uganda

#f3® T&: ) Sierra Leone

Live MCQ Analytics™: Ff5% S@awrst: 52%,
e Seanel: 1%, 6 ICAAI: 45%

T 9T 2% 72 P @Y ACAT WA
TN CAICS Live MCQ @7 I5GT e |
2% ob, Money market is a market for
<) short term fund ¥) long term fund
) risk free assets  ¥) hedge fund

#féF ©&: F) short term fund

Live MCQ Analytics™: 3% Teamrel: 27%,
TF TEAMISl: 10%, OB ICA: 61%

T 9T &% 7T P Y AT RN
T CAICS Live MCQ @7 IFGT e |
29 ©d. The value of gold is determined in

JF) Rome %) Washington
%) Russia ¥) London
Hfés Tex: ¥) London

Live MCQ Analytics™: Af5% S@awrst: 8%, o
TEIWICl: 28%, ©GF FCI: 62%

T 92 &F 72 PR Y AT GO
T T Live MCQ GI% TG Py |

2 8o. Head office of Coca Cola company is

JF) New York ¥) Atlanta
%) New jersey ¥) Florida
3% Bex: ¥) Atlanta
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Live MCQ Analytics““:y{lﬁ?\)?s TeanTel: 15%,
el Teanel: 13%, ©@d FEA: 70%

I 9T 2% 7T PR 7Y AAT RN
T FAC® Live MCQ @I% 33757 e 1
e 8. The absorption of insolation, the
most significant part is

<) Carbon di-Oxide <) Oxygen

%) Haze ) Ozone

3+ ©&R: F) Carbon di-Oxide

Live MCQ Analytics™: 3% Teamretl: 9%, e
TEITOI: 22%, ©€F FCAA(: 68%

I 92 &% 7T PR Y ACHT WRAE
T FC® Live MCQ @UI% 33757 e 1

oy 8. A light sensitive device that converts
drawing, graphics, art & images into digital

from one is

<) Keyboard ¥) Scanner

%) Printer q) None of these
fé% T&w: ¥) Scanner

Live MCQ Anal)rticsTl“:711c§>?s Teqmel: 37%,
T Taqurel: 8%, $6d FA: 53%

I @2 &7 7T PP AN ACHT WA E
JIT FIAC® Live MCQ @UI% 33757 e 1
2% 89, Documents, movies, images &

photographs are saved at
<) Application server <) Web server

%) File server 9) Print server

f$< ©ex: *) File server

Live MCQ Analytics™: 5f5< TGawrel: 40%,
e GeanTel: 8%, $@d FCA: 51%

I 9T 2% 7T PR 7Y AHT WA
JIT FIC® Live MCQ @UI% 33757 ey 1
29 88, Which of this tools bar allows
changing of font & their size?

¥) Standard

) print preview 9) none of these

wHfée Tex: ) formatting

<) formatting

Live MCQ Analytics™: 0% Seamret: 31%,
9ol SGqlSl: 9%, B FEA: 58%

I 9T 22 7T PR @Y ACAT GNP
T AT Live MCQ @™ 337567 5o |
&% 8¢. The basic unit of a worksheet into

which you enter excel is called a

JF) column ) face
%) table q) cell
Ffée B&: 9) cell

Live MCQ Analytics™: Af6& S@awret: 35%,
T Teanel; 8%, € LA 56%

[ G2 &% T PR AR QAT AT OF
T RIS Live MCQ @™ 237567 5o |

&y 8Y, The process of transferring file from
a computer at the Internet in your
computer is called?
) forwarding ) downloading

) FTP ¥) uploading

Ffé% B&w: %) downloading

Live MCQ Analytics™: 3% S@amret: 20%,
e el 29%, T@d FAA: 50%

WY 92 &% 72 PP Y AT AT
T RIS Live MCQ @i* 237567 5o |

Real Time Multi-Player .
Quiz Game

____________________________

Learn More

/

2% 84. Which of the following will not
protect you from spam?

¥) e-mail rules

) filter

<) spam blockers
) popup blocker
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(¥ B&: 1) popup blocker

Live MCQ Analytics™: 3% Teawrel: 8%, el
TEAAIST: 32%, T&F FCAI: 59%

I 42 2% 72 PR Y AT GAN T
JIT CTIT Live MCQ Q% 5 ey |

& 8v. Which software is not a file
compression utility?
) compress ) 7-zip

) Wikipedia ¥) winzip

e Tea: o) Wikipedia

Live MCQ Analytics™: Af5& S@awret: 39%,
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oy 85. Superscript, subscript, strike -
through are known as

) font face %) font style

%) font former q) font effects

Ffée Tex: q) font effects
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&Y ¢o. In Internet terminology IP means
) Internet provider ) Internet Protocol
%) Internet procedure ¥) Internet processor
%fd< ©&: %) Internet Protocol
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&Y @d. The space left between the margin
and the start of a paragraph is called?

) spacing ) center

%) indentation ¥) alignment

e Tex: 9) indentation
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& @R. The portions that shows all the
choices you can while working in a window
is called?

<) menu bar <) options
%) table q) item bar
o Tex: <) menu bar
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& @o. Which of the following is an output

device?

) printer ¥) monitor
) mouse 9q) botha &b
#f$® & 9) both a & b
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